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Osin(a +2kr)=sina, cos(a +2kr)=cosa, tan(c+2kx)=tana, K keZ.

@sin(r+a)=—sina, cos(r+a)=—cosa, tan(r+q)=tana.
@ sin(-a)=-sina, cos(—a)=cosa, tan(—a)=—tana.

@sin(r—a)=sina, cos(r—a)=—-cosas tan(r—a)=—tana.
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@sm(E+a) = COS U > COS(E—I—O!) =—sIng.
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cos(g +a)=—sina.
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sin 600° = sin(600° —720°) = sin(—120°) =—sin120° = ~
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sin241° tan151° =sin(270° —29°) tan(180° —29°) = —c0s29°(—tan 29°) =sin 29° = \/1 —c0s°29° = \/1 —m” .
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188 =cosl® +cos2° +cos3° +---+cosl179°, NS =cos179° +cos178° +cosl77° +---+cosl®,
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